
SEGA Amusements International Sonic All-Star Sports Air Hockey Table
Instruction Manual

- SEGA TOTAL SOLUTION -
42 Barwell Business Park

Leatherhead Road,
Chessington,

Surrey,
KT9 2NY

United Kingdom

Parts/Customer Service & Technical Support: 
+44 (0) 208 391 8060

____________________________________________ 

- PLAY IT AMUSEMENTS -
870 Lively Blvd 

Wood Dale, 
IL, 

60191 
United States of America 

Parts/Customer Service : +00 (1) 224 265 4587
Technical Support : +00 (1) 224 265 4283

SPARES AND SERVICE CONTACT INFORMATION



SEGA Amusements International Sonic All-Star Sports Air Hockey Table
Instruction Manual

Product Information

Electrical:
110V @50Hz - 660W (6A) 
220V @60Hz - 660W (3A) 

Dimensions
GROSS weight: 227kg
Packed Dimension: 227 x 160 x 45cm 
NET weight: 200kgs
Assembled Dimension: 225 x 165 x 
214cm

After receiving the shipment, inspect the product thoroughly to ensure 
that it has been shipped with care. Before turning the power on, 
please check the following:

• Check the cabinet for damage that may have occurred during
shipping. Are there any dented portions or defects (cuts, etc.) on the
external surfaces of the cabinet?

• Are legs and adjusters/levelers/feet intact?

• Do the power supply voltage and frequency requirements meet with
those of the location?

• Are all wiring connectors correctly and securely connected? Unless
coupled in the correct manner, connections will not be made
accurately. Do not insert connectors forcibly.

• Check that the power cables are complete and undamaged. Do not
power on the machine when wires show signs of damage.

• Are all accessories provided to you (most will be stored in the table)?

• Can all doors/lids be opened with the accessory keys? Can doors and
lids be firmly closed? If applicable, does the coin box key open the
coin box(es)?

25



Maintenance

Remove the mallet holder corners on each end of the rail you 
want to remove. Remove the corner piece by removing the 4 
screws holding each corner down.

• This product is intended for indoor use only

• Do not sit, climb, or lean on the table.

• Do not drag the table when moving it; this could cause irreparable damage.

• Do not place any food or drinks on the table.

• Users should not hit the puck with a mallet if the puck is not level and flat.

• Spectators should not stand against the table; this may cause injury.

• Users should hold the mallet by the handle (not the base), or the puck may
hit fingers and could cause injury.

• This game features flashing lights which may not be suitable for
photosensitive epilepsy.

Make sure you have enough space around the game to slide
the rail off.

Begin Troubleshooting

Consult the Control Panel and find the PC Board error lights. Match the error lights found on the
machine to the error lights found in the manual (in the section titled "Error Lights and Dip Switch 
Adjustments"). This will immediately help to diagnose the problem function.

Common Problems

Solenoids: Misfiring solenoids can be caused by low voltage. Voltage issues may be from a card 
swipe system attached to the table which is causing the power supply to be unstable. Card 
swipe systems must be attached to their own power supply.

Power Supply: The 12V power supply which is in the table can have its output adjusted by 
using the knob (called a "trimpot") on the front of the power supply. Check the voltage coming 
out of the power supply. If you are not using a card swipe system, adjust the trimpot by rotating 
it clockwise or counter-clockwise as necessary to increase or decrease the output

Optical Goal Sensor: Check the PC Board error lights to make sure the optical goal sensor light 
is not on. The optical goal sensor tells the solenoid when to open and can be the cause of an 
issue. The solenoid may need to be replaced if it continues to misfire.

Once the corners are off, slide the rail off the aluminum rail
channel.

SEGA Amusements International Sonic All-Star Sports Air Hockey Table
Instruction Manual

Wiring Schematic

24 1



Part#: 3213438
Part Name: Center Guard Bracket

Part#: 3301415
Part Name: Black Overhead Bracket Cover

Part#: 3303657
Part Name: Side Guard Quarter Panel

Part#: 3303679
Part Name: SEGA Center Guard with Logo

Part#: 3605130
Part Name: Power Supply LRS-100-5

Part#: 3605131
Part Name: Power Supply LRS-200-12

Part#: 3612439
Part Name: Optical Goal Sensor

Part#: 3612421
Part Name: LED Scoreboard

Part#: 3612427
Part Name: Puck Bay LED Ring

Part#: 3605133
Part Name: Solenoid

Part#: 3303828
Part Name: Clear V3 SONIC Top Sign

23



Part#: 3207531
Part Name: SEGA Blue Side Skirt (1964mm)

Part#: 3207532
Part Name: SEGA Blue Door Skirt (420mm)

Part#: 3207533
Part Name: SEGA Blue Side Skirt (419mm)

Part#: 3607050
Part Name: Blower-110V CY120A2P1

Part#: 3607051
Part Name: Blower-220V CY120A2P2

Part#: 616030001
Part Name: Orange Hockey Mallet

Part#: 616030002
Part Name: Blue Hockey Mallet

Part#: 3502049
Part Name: Felt Pad for Mallet

Part#: 616030068
Part Name: ABS Chrome Puck Bay

Part#: 3301722
Part Name: Rail Corner

Part#: 3399145
Part Name: Leg Leveler

Part#: 3213399
Part Name: Holder for Iron Pipe

22



CN35 CN36 CN3 CN4 CN42 CN43 CN40 CN41CN311 CN310

CN312

SPEAKER

CN313

CN1

CN2

Part#: 3612435
Part Name: PCB (X/L/M)

Part#: 3399186
Part Name: SEGA Pink Puck

Part#: 626030054
Part Name: Sonic X005 Playfield 2185*1489*10mm

Part#: 616030029
Part Name: Air Hockey Leg for Model X

Part#: 3207736
Part Name: SEGA Blue Long Side Rail (1964mm)

Part#: 3207737
Part Name: SEGA Blue Long Side Rail (1268mm)

Part#: 616030046
Part Name: SEGA Blue NRI faceplate

Part#: 616030044
Part Name: SEGA Blue Ticket Mechanism Faceplate

Part#: 3503944
Part Name: SEGA Side Decal (1990 x 243mm)

Part#: 3503423
Part Name: SEGA End Decal (1290 x 243mm)

Part#: 3207442
Part Name: Coin / Ticket Mechanism Panel (419mm)

Part#: 3207441
Part Name: Puck Access Door (420mm)

21





Controls for Hit Sensitivity

Controls Volume for 
Insert Coin / Hit / Credit

Controls Volume for 
Victory / Attraction / Game Over

Controls 
 Overall
Game
Volume





CN35 CN36 CN3 CN4 CN42 CN43 CN40 CN41CN311 CN310

CN312

SPEAKER

CN313

CN1

CN2



Overhead Bar

M4x12(4)

Medium Screws
M5x15(3)

Medium Screws
M4x12(8)

Sonic Sign Fastener

A

B

B

C

C

D

D

E

E

Scoreboard
LED Strips

Overhead Bar Bracket

Attach the Sonic sign fastener to the scoreboard with screws. (M4x12)

Attach the scoreboard to the overhead bar with four medium screws.

Attach the Sonic sign to the fastener.

Connect the corresponding pins from the wire harness in the overhead 
bar  to the scoreboard. Connect the matching colors and shapes of 
the pins.

Take out the LED strips through the holes , remove the paper from
the LED strips and use the flat tool to stick the LED strips.

A



Controls for Hit Sensitivity

Controls Volume for 
Insert Coin / Hit / Credit

Controls Volume for 
Victory / Attraction / Game Over

Controls 
 Overall
Game
Volume



5V and 12V Power Supplies:
The 5V and 12V power supplies regulated and disperse the power to the PC boards, LEDs, and 
other electronics. The 5V and 12V are separate to ensure that there will not be any power
instability between components. (*Note: Left is 5V; Right is 12V)

PC Board:
The PC Board controls the game operation. All adjustments to time, goals, or lives (depending 
on model) are made using this PC Board. Errors can be diagnosed using the error lights found
 near the top of the board.

Display Panel Light and Puck Chute Light Control Cards: 
These cards control the display panel and puck chute lights.

Counters:
The counter records the number of games played, coins inserted, or tickets dispensed 
(depending on model and equipment).






